11. Corporate Strategy
1. Choose the words to fill in the gaps:
Corporate strategy is usually based on the ______________ view of the key strengths of the business. BMW’s is built around top quality design and engineering of cars (and motor bikes). Barclays Bank seems increasingly to build its business around expertise at tax avoidance. This is legal but has been described by Liberal Democrat Vince Cable as ‘cynical’. Others would describe it as _____________. Without doubt, though, it is logical. Every business needs its point of differentiation. A corporate strategy should be capable of delivering on the firm’s _________________. In the case of Barclays, these are presumably focused solely on profit. 
Words from: ethical, workers’, unethical, tactics, Directors’, objectives
2. Match 2 possible strategies to each of the corporate objectives (Put answers in the Ans column)
	Corporate Objective
	Ans
	Possible Corporate Strategy
	Possible Corporate Strategy

	2.1 Tottenham Hotspur: to replace Arsenal among Britain’s elite Top 4 football teams 
	
	A. Move quickly to launch our products in all the main markets, before other copy our ideas
	E. To recruit and retain the most highly skilled manager and ‘workers’ that can be afforded

	2.2 To establish Innocent Drinks as Europe’s No 1 supplier of natural fruit-based drinks
	
	B. Invest in enough extra capacity to make it possible to get more ticket income than the main rival
	F. Maintain our high-class image and hope an improved economic outlook brings customers to us

	2.3 To ensure that BX Building Ltd makes as much profit as possible as quickly as possible
	
	C. Open new outlets in parts of the country where we haven’t yet established ourselves
	G. Complete work as fast as possible, achieving quality just high enough to ensure clients pay up

	2.4 Within 2 years to overtake Asda and restore Sainsburys to the position of Britain’s 2nd biggest grocery retailer
	
	D. Quote low prices to customers but add on huge extra charges when changes are made to the job
	H. Obtain external capital investment from a multinational drinks firm such as Coca-Cola


3. Data response question
Tesco’s corporate strategy could have been summed up in its famous advertising slogan: ‘Every Little Helps’. Taken across the whole business, the phrase meant ‘kaizen’ or continuous improvement. This should have helped achieve positive change from ideas put forward by staff. Unfortunately it was not the only aspect to Tesco’s corporate strategy. The business also carried out a systematic attempt to minimise its tax liabilities in Britain, using devices such as putting the Head Office of Tesco Direct (online, delivered sales) in Switzerland. So the strategy very clearly prioritised some stakeholders ahead of others. 
3.1 Outline one stakeholder group that might have benefited from Tesco’s approach. _______________________
______________________________________________________________________________________
3.2 Outline one stakeholder group that may have been disadvantaged by Tesco’s approach.  __________________
______________________________________________________________________________________
3.3 Without warning, Tesco told its suppliers to cut all supply prices by 3%. They were told that Tesco would not pass on the cost reductions as price cuts to customers. Explain the probable objective behind this strategy. 
______________________________________________________________________________________
_____________________________________________________________________________________
4. True/False

4.1 To be successful, a strategy must meet the objective without over-stretching the firm’s resources.
4.2 Small firms don’t have ‘corporate’ strategies, they only have plans
4.3 A good corporate strategy has enough flexibility to cope with different economic conditions.
11. ANSWERS – Corporate Strategy
1. Directors’ … unethical … objectives

2.1 B, E

2.2 A, H

2.3 D, G

2.4 C, F

3.1 The ‘Every Little Helps’ approach may have helped staff as it suggests that their views matter. It would only work, though, if Tesco’s management put the good ideas into practice.

3.2 The community, as represented by the taxpayer. The more that large firms (or wealthy individuals) manage to dodge their liabilities, the more the government has to tax ordinary people (or companies)

3.3 It sounds as if the business was trying to boost its profit margins, perhaps in pursuit of increased ‘returns’ (rewards) to shareholders. 

4.1 True

4.2 False (though there’s some truth in the statement)

4.3 True
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